ROC Quiz Sample

Bruno still has 87 pag%f AP Government to be read after he has been reading for 10 mmutes and 6
s left after he'has been reading for 52 minutes., Assume that the number of Qages left to read varies

page
@mth the number of minutes he has been reading.
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a. What is the rate of change? s .
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b. Find the y-intercept and describe the value in context 7f this word proble
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¢. Write the equation that models the numbel of pages remaining to be leagln terms of time.
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}i@wi]l Bruno be finished reading the AP Government assignment?
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